GMAT #Fi=22HE

T. RETHEE R

. (B8] EREFEEL

7~ [RR] TR

(RR] SHMAGERG

(RR] £5. FEEMH

[(RE] SHEt. SRR

(B8] ]&

(RR] FitiASIHASERM

(EE] HHIESTRSE

[E53E] OG 2018 #%&5E

10

13

15

17

22

24

28



T. RETHEE R

(iRIEZRHE]
F—R : RR LEEMUHEM | 2585, TREMHS ;3. &

I\, JREFNALTRA (4. REGFOEER ;5. REL BRI TINFRES
FAE CMGERIIRR 1/2/3 RIEHE

BRIRR 1/2/3 HIRFF

RE BRIRA 1/2/3 BB E B —X U ENIRE]

FLEH CHTAMRR 4/5 RIEHE
FEBR , FIMRR 4/5
e |, BRIRR 4/5 RIRR B Bf—IX U ERS [B#]

@O0 OO

S/ AR/ 6. VAR ; 7. St A IESEM | 8. HF
SIBETIMRRLAR 9. 858, BRI NIFHES

@ FEFECHGAIRR 6/7 HIRRE

@ BRIRR 6/7 BIRFE

® #E , BHNRR 6/7 BB —IX UEYS [REF]

@RS OG , AJLUG OG hEEAMEHIMSIZRIALEI | &
SERHE ; MRLEMIT OG , MEITEMERRB HE

® FEECHESAIRR 8 RIREE
® LEFR , FIFRR 8 LK OG HRIMER
@ BE BIRA SR B OGMRIEM—R  LAEA[EHE]

[EEBIA]
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1. PS i : FUSEHFH , FEELERHER ( AEIMPERDE
BiEMEZx , FAEEEEHEER )
2. DS mETFEEEANEMLE , I E&E 18/MFE2, 2
B LARZ TR AR |, anRaTLARIFRAFES sufficient ;40
BARBENFRAAFTS insufficient. fTA DS BUEIIEENT :
A. Statement (1) ALONE is sufficient, but statement (2) alone
is not sufficient.
B. Statement (2) ALONE is sufficient, but statement (1) alone
is not sufficient.
C. BOTH statements TOGETHER are sufficient, but NEITHER
statement ALONE is sufficient.
D. EACH statement ALONE is sufficient.
E. Statements (1) and (2) TOGETHER are NOT sufficient.

( AT DS BUEIESEng )

IR

1. x and y are integers, whether x>y?

(1)x=2

(Q)y RIEEE

FREFM 1 RAE xHUE , TiEFIMT xy IKNKR |, AR
BREFM 2  RAE y 2IEEE, TiEFET xy BIANKR , A7

VAN
7]

BEFXMF12: xBA B2y TLEARRRIE (Fa0:183),
ToiRFIRT xy FIRINKR | AT



2.x andy are integers, whether x>y?

(1)x=2

(2)y=4

F 1 sEFM 2 PRERAT

S 182 : FILMEH x<y , FIA x>y RAIL , BREno , 75
rinz @

[ Is Statement 1 Sufficient Alone?

o 5

Is Statement 2 Sufficient Alone? ] [ Is Statement 2 Sufficient Alone? ]
Ye:

Y N Y %

(—

—

Correct Correct Correct Are Statements 1 & 2
Answer Answer Answer Sufficient Together?
isD isA isB
Correct Correct
Answer Answer

isC isE
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1.1 If n and k are positive integers, is n/k an even integer?
(1) nis divisible by 8.
(2) k is divisible by 4.

1.2 If x is an integer, which of the following must be an odd
integer?

A 2x + 2

B.4x + 3

C.12x-6

D. 13x

E. 14x

1.3 B n RIEEE , LIFSHBESFIMT n 218507
(1) B n MNESIEEHAIMIZBEEL
(2) Bl 2n MELIFEHAITNZEEL

2.11If x and y are positive, is 4x > 3y?
(I)x>y-x
@ x/y<1

2.2 If w and c are integers, isw > 0?
()w+c>50
(2)c> 48

23 Isxy > x/y?
(I)xy >0
(2y<0

2.4 BX a FBYEEEIR(19,31), b FIBESEEIR(29,41), a/b HIEX
BEEEESD?

2.5 SHIEEES 0<x<y<z<10 H x+y+z B/\F 12 95588, LT
EHeenF T x=17

1) xy.z ZHEERNEEITRIRE S

) xy Mz PE— RS — PRI 3 15

2.6 B&Ix>0 H 0.6x<y<0.8x, LATEMBEERHIMT x-y<20?
(1) x> 50
(2) x<100

2.7 BEISEE xy 1 2 R xyz>0, LA SRAGRERFIME xy2z3>0 ?
(1) x>0



(2)y>0

2.8 EAISEE x,y F 2 HE xyz>0,LATEBESHIRT xy?z3>0
(1) xz>0
(2) yz>0

3.11If |2x+3|<5, what’ s the possible value of x ?

3.2 BAISCE r M0 s, LATRMABEEF M r<s ?
1) |r|<s
(2) |s|<r

3.3 Ol x ZSLE, LATSARERFIMIX+ 1| <[x+5]
(1) x<3
(2) x>-3

3.4 SHISKELr A0 t, LATSAFRESFIRR|r-t]>{|r]-[t]]
(1) rt<0
(2) r-t<0

4.1 The number line shown contains three points R, S and T,
whose coordinates have absolute values r, s and t,
respectively. What is the average (arithmetic mean) of the
coordinates of the points R, S and T?

4.2 what is the algebraic expression for the shaded part of the
number line below (hint: inequality)?

54 -3-2-1 012 3 45 x

4.3 |x+1|+|x-2|>3?
(1) x>-2
(2) x<2

4.4 On the number line, point R has coordinate r and point T
has coordinate t. Is t<0?

(1) -1<r<0

(2) The distance between R and T is equal to r?



4.5 Of the four numbers represented on the number line
above, is r closest to zero?

(1) g=-s

(2)-t<q

e ge———
Qe r s t

4.6 If a<x<b and c<y<d, is x<y?
(1) a<c
(2) b<c

5.1 If x and k are integers and (12¥)(42+1) = (2¢)(32), what is
the value of k?

52 If -1 < h < 0, which of the following has the greatest
value?

A.l-h

B.1+h

C.1+ h?

D.1-1/h

E.1-1/h?

5.3If n = 81 — 8, what is the units digit of n?

5.4 If 10°0 — 74 is written as an integer in base 10 notation,
what is the sum of the digits in that integer?

5.5 What is the value of [1/(V3 - ¥2)]??

Answer
11 E 3.3 B
12 B 34 A
13 B 41 (s+t-r)/3
2.1 E 4.2 |x+1|<=4
2.2 E 4.3 E
2.3 E 4.4 C
24 (19/41,31/29) 4.5 A
2.5 A 4.6 B
2.6 E 51 14
2.7 B 5.2 D
2.8 A 5.3 4
3.1 -4<X<1 54 440
3.2 B 5.5 5+2V6
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1.1 A set of numbers has the property that for any number t
in the set, t + 2 is in the set. If -1 is in the set, which of the
following must also be in the set(RJLAZZ5E)?

a.-3 b.1 <c5

1.2 PIEEN A#B RFR1E AUB |, (BERE ANB FHIREARL
ARG, IECH AUB=(1,2,3,4,5,6,7}; i LATEMH
BES YT B EERMHA?

(1) A={1,2,3,57}

(2) A#B={1,2,4,5,6}

2.1 On a certain transatlantic crossing, 20 percent of a ship” s
passengers held round - trip tickets and also took their cars
abroad the ship. If 60 percent of the passengers with round -
trip tickets did not take their cars abroad the ship, what
percent of the ship’ s passengers held round - trip tickets?

2.2 Of the students in a certain school, 15 percent are
enrolled in an art class and 10 percent are enrolled in a music
class. What percent of the students in the school are enrolled
in neither an art class nor a music class?

(1) 2/3 of the students who are enrolled in an art class are
also enrolled in a music class.

(2) There are more than 100 students in the school.

3.1 Last year 26 members of certain club traveled to England,
26 members traveled to France, and 32 members traveled to
Italy. Last year no members of the club traveled to both
England and France, 6 members traveled to both England
and Italy, and 11 members traveled to both France and Italy.
How many members of the clue traveled to at least one of
these three countries last year?

3.2 B 53 PASI—ERS | 8PAZDE=DEBYFHI—
pizza, cheese, hamburger, BRI=FEYEZHIATSL ?

(1) IRBEARIZT pizza , HFERIZ cheese AT 91

(2) IRBEAIZTAEHREY , HFERZT hamburger AT 7 4

4. The table below shows the results of a survey of 100 voters
each responded “favorable” or “unfavorable” or “not sure”
when asked about their impressions of candidate M and of
candidate N. What was the number of voters who
responded “favorable” for both candidates?

(1) The number of voters who did not respond “favorable”
for either candidate was 40



(2) The number of voters who responded “unfavorable” for
both candidates was 10

Favorable Unfavorable Not Sure
Candidate M 40 20 40
Candidate N 30 35 35

5. Every object in a box is either a sphere or a cube, and every
object in the box is either red or green. How many objects are
in the box?

(1) There are six cubes and five green objects in the box.

(2) There are two red spheres in the box.

6.1 Of the 1,400 college teachers surveyed, 42 percent said
that they considered engaging in research an essential goal.
How many of the college teachers surveyed were women?
(1) In the survey, 36 percent of the men and 50 percent of the
women said that they considered engaging in research an
essential goal.

(2) In the survey, 288 men said that they considered engaging
in research an essential goal.

6.2 Are at least 10 percent of the people in Country X who are
65 years old or older employed?

(1) In Country X, 11.3 percent of the population is 65 years
old or older.

(2) In Country X, of the population 65years old or older, 20
percent of the men and 10 percent of the women are
employed.

7.11f ris a constant and a, = ren for all positive integers n, for
how many values of n is an < 100?

(1) aso = 500

(2) a0 + a10s = 2,050

7.2 What is the sum of the integers from -190 to 195,
inclusive?

8.1 In the sequence of nonzero numbers &, &5, &3, ..., &, ..., b1
= t, / 2 for all positive integers n. What is the value of #?
1)=1/4

(2) - t = 15/16

8.2 In the sequence 1, 2, 4, 8, 16, 32, ..., each term after the
first is twice the previous term. What is the sum of the 16th,
17th, and 18th terms in the sequence?

9. If the sequence xi, X2, X3, ., Xn, ... is such that x; = 3 and




Xn+1 = 3Xn — 2 forn = 1, then x20 — X19 =

10-1 Xj‘1£%ﬁg n>21 anzan—l'an—z 1 a].:_l 1 a2=1 1 *_ﬁ\-ﬁ 1000 IDjE,\J
A

10.2 —5U%4% Sy, Sz, Ss....., HH S1={1}, S2={23 4}, S:={5678
9}, Sn PEEINEET Sn BN 2, EEEERRBIESEN B
J;ESZ —H%WUE’ﬂ%-ﬁ‘iﬂl%ﬁﬁ-ﬁ‘%ﬂlﬂ%kﬁ’ﬂ%ﬂﬁ 1. 3K Si01 FER/MY
2

10.3 —NEFI 4*107, 41077, ..., 4*10"™, m il n SIEREE
XTI ER DR ?

(1) m<6

(2) n=12

Answer

1.1 b.c 6.2 B

1.2 C 7.1 D
2.1 50% 7.2 965
2.2 A 8.1 D
3.1 67 8.2 7*215
3.2 C 9 4*318
4 A 10.1 3

5 E 10.2 10001
6.1 A 10.3 C
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1.1 BXILATRT f(x), h()F1 g (x ) BIREER :
(DfOBIE R x| <2

(Q)h(x)BIEXIFHZ 0<|x|<6

(3)gAIE M FHE x<-7

i&ia): f(x)*h(x)*g () BIE X242

1.2 B2 BREREL:

(1) Z50<x<4h7, f(x)=7-x
(2) % 4<x<8H], f(x)=0.5x-2
15[ X REHERESD ?

13 BMf(x) =2x, g(y) = 2y+1. A : f(92)EHE

21 BFILATRRTF x, y Ml z BOXRERL -
(1) x+y=1

(2) xy+z=1

(3) xyz=3/16

| (1/x+1/y+1/z-1/3)0>FF % ?

ﬁgﬁ;*” Xy Fl 2 REATFEMISEE | [E— AL x+y+2
Y5 ?

(1) x2+y2+22=27

(2) xy+yz+xz=11

23 8Mx y zfwiHE— &M :
(1) w/x=x/y=y/z

(2) xyz IIAFT0

[E): SMfAIAE w A x o w/z ?

3.1 In the xy plane, does the line with equation y=3x+2
contain the point (r, s)
(1) (3r+2-s)(4r+9-s)=0
(2) (4r-6-s)(3r+2-s)=0

3.2 If b, c and d are constants and x2+bx+c=(x+d)?2 for all
values of x , what is the value of c?

(1)d=3

(2)b=6

3.3 BX x=-1, n 281 404 NEELZH, 7 : x+x+xLexne2 EF
£



4.1 If s is the product of the integers from 100 to 200,
inclusive, and t is the product of the integers from 100 to 201,
inclusive, what is 1/s + 1/t in terms of t?

A. (201)/t B. [(202)(201)]/t C. 201/t D.
202/t E. [(202)(201)]/t?

4.2 For any positive integer x, the 2-height of x is defined to
be the greatest nonnegative integer n such that 2" is a factor
of x. If k and m are positive integers, is the 2-height of k
greater than the 2-height of m?

L k>m

(2) k/m is an even integer.

43 If A@B=A2+B2for all real numbers A and B. then
(A@B)@C=

4.4 The function f is defined for each positive three-digit
integer n by f(n) = 2% 3y 5%, where x, y, and z are the hundreds,
tens, and units digits of n, respectively. If m and v are
three-digit positive integers such that f(m) = 9 f(v), then m - v

4.5 The operation ® is defined for all nonzero numbers a and
bbya®b =a/b-b/a. If xand y are nonzero numbers,
which of the following statements must be true?

Lx®xy =x(1®Yy)

Ix®y=-y®Xx)

IM1/Xx®1/y=y®x

5.1 BXIEZ y=mx+b, HF m 7 b 23L&, [RILATR4BESE T
XEEE ST x i ERVEREAR R AT ?

(1) m+b>0

(2) mb>0

5.2 In the xy-plane, region R consists of all the points (x, y)
such that 2x+3y<6. Is the point (r,s) in the region R ?

(1) 3r+2s=6

(2)r<3 and s<2

5.3 BXIXTF x F1 y B95FE[X|+|y|=6, [TXNGTEE xy AIRERE
FXHIEIFZAIETR

5.4 In the xy-coordinate plane, the slope of line I is 3. Does
line I pass through the point (-2/3, 1/2)?

(1) Line I passes through the point (4, 4)

(2) Line I passes through the point (-4,-2)



5.5 BRI—NTUREREL f(x)=ax2+bx+c [ALL R A RESFIMTXNR
AN X WESDIRR?

(1) a>0

(2) c<0

6.1 EA—PAMESR 11 X TR HP FRRIRHRE EFEE T
IRB LT IRAYIER. XNALHERIHRESE 16 XEF
iR, I3 XML TM. B XMTAHETEOK?

6.2 EEX—IH 50 & , iFHMWANT
(LX—/A+5 53

()RR ENME-2 1
LA MELUZ AT BERHS 2 2
A193  B194  C195 D196 E 197

6.3 At a certain company, the average number of years of
experience is 9.8 years for male employees and 9.1 years for
female employees. What is the ratio of the number of male
employees to the number of female employees?

(1) There are 52 mal employees at the company

(2) The average number of years of experience for male and
female employees combined is 9.3 years

7.1 B xy>0, & x/y+y/x>2?
(1) xFy F48%
(2)x=1.1ly

7.2 AB+BA=AAC and A, B, and C are different digits, what is
the units digit of the integer AAC?

7.3 If x and y are positive, which of the following must be
greater than 1/(x+y)%5?

L (x+y)%3/2x I (x0>+y0>) /(x+y) III.
( X05-y05 ) /(x+y)

Answer

11 | & 41| D 55| C

1.2 |0<x<2 U 42| B 6.1 | 20
3<x<7

1.3 |10 4.3 | A+B4+2A2B2+C2 | 6.2 | B

2.1 | 595 44|20 63| B

22 |E 45 |11 II 71| D

2.3 | (w/x)3 51| B 7210

31 | C 52| E 73 |1

32 | D 53|72

33 | -2 54| D




M. [EH] REFES

1.If p, s, and t are positive prime numbers, what is the value
of p3s3t3?

(1) p3st=728

(2) t=13

2.If x and y are positive integers, what is the value of (x+y)??
(I)x=y-3
(2) x and y are prime numbers.

3.If O<x<y<z and x, y, z are consecutive odd integers, what is
the value of xyz?

(1) y=5

(2) x, y, z are prime numbers

4. Bk n ZIFE4Y , g 2 k+7 f1 n BRI,
8 : LARSRBERFIMTEESR g RIR/N

(1) n= 9843

(2) n=k+6

5.1. PS : n=2534537211 , n BZ/D N ERZL ?

5.2. The positive integer k has exactly two positive prime
factors, 3 and 7.If k has a total of 6 positive factors, including
1 and k, what is the value of k ?

(1) 32is a factor of k

(2) 72 is not a factor of k

5.3. n 2Ry, LUTFMABERHAM 12n S OMETF?
(1) 255 3 NEEHETF
(2 n>3

6.1. How many different prime numbers are factors of the
positive integer n ?

(1) Four different prime numbers are factors of 2n

(2) Four different prime numbers are factors of n?

6.2.30 2FE P HEF?
(1) 30 2 P> BIEF
(2) 30 2 2P WRET

7. An integer greater than 1 that is not prime is called
composite. If the two-digit integer n is greater than 20, is n



composite?
(1)The tens digit of n is a factor of the units digit of n.
(2)The tens digit of n is 2.

8.1 For every positive even integer n, the function h(n) is
defined to be the product of all the even integers from 2 to n,
inclusive. If p is the smallest prime factor of h(100)+1, then p
is

A. P<10

B. 30>P>10

C. 50>P>30

D. P>50

8.2 The product of the first N consecutive IFEE#ET X, XY
FEBH 610, XK NWR/IMERSZD

9. n XF 1 H9%EEL , [8) n 242K prime number ?
4% 1 : every prime factor of n KFRE n
%44 2 : every prime factor of n XF n/2

51 | 52 | 53 |61 62| 7 |81 82

N
w
|

720 D | C | B A A|D]25

|wilNe}




h. [Eif] F&

1.1 When positive integer x is divided by positive integer vy,
the remainder is 9. If x/y = 96.12, what is the value of y?

1.2 B n 2EEH LINFHABERFIRT n BRLL 27 RIREL r RIE?
(L)n BRLA 20 RORELR 7
(nBREL 27 HIBR 2, REEr

2.1 What is the remainder when the two digit, positive integer
x is divided by 3?

(1)The sum of the digits of x is 5

(2)The remainder when x is divided by 9 is 5

2.2If nis a positive integer and r is the remainder when 4 +7n
is divided by 3, what is the value of r?

(1) n+1 is divisible by 3

(2) n>20

3. What is the remainder when the sum of the positive
integers x and y is divided by 6?

(1) When x is divided by 6, the remainder is 3

(2) Wheny is divided by 6, the remainder is 1

4.1 If n is a positive integer and r is the remainder when
(n-1)(n+1) is divided by 24, what is the value of r?

(1)2 is not a factor of n

(2)3 is not a factor of n

4.2 If n is an integer greater than 6, which of the following
must be divisible by 3?

A.n (n+1) (n-4)

B.n (n+2) (n-1)

C.n (n+3) (n-5)

D. n (n+4) (n-2)

E. n (n+5) (n-6)

5If x is an integer, is x between 27 and 547
(1) The remainder when x is divided by 7 is 2
(2) The remainder when x is divided by 3 is 2

6.1 If x is a positive integer, is the remainder 0 when 3*+ 1 is
divided by 10?

(1)x = 4n + 2, where n is a positive integer

2Q)x >4



6.2 What is the remainder when the positive integer n is
divided by the positive integer k, where k > 17

(L)n = (k+1)3

(k=5

6.3 (1)3°°FRLA 8 HIREY ? (2)31 BRLA 8 HIRE 7 (3)3°0BRLA 7 BT
REL? (A)7OBRLLLS ROREL?

Answer:

11112121 (22| 3 [41/42]|5]61] 6.2 6.3

STCIDIAICIClAIEIA] A 1324
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N5
1.1 EMN=AFARREERLTRTIYTTOBIZ A2 4) B3,
2), C(-6, -6), iBAI=FA ABC HUERESD ?

1.2 W& , B4 AB=4,BC=3, WM y kFxx= x?

7
Q
)

1.3 41E ABE&/ 25feet IU—=)T DE 255 Sfeet B9—1NA
CERARIGE K Sfeet. FESH DE: AB=CE:CB. i&ainsgRix|
ALA 2feet/FoUIERERRTEER A AIE |, BFAMAIS, FEBREINZ /D

feet?

14 E , —"ER=AFEERNER , KRB/ EoRIER.

209
20
L’

1.5 2%1«ADE=50°, ~AOB=130°, 3k«DAE RYE%L

1.6 WERT7~ , «£E=2«F=135°, DE=AB=9, AF=5, CD=4, %




DE /B4 ABHIEEE N 9, KEBFSERLRIERR.

1.7 ENERE— =/ , ZAF—FiOK8 6, BRI TFE
RERFIMMX N =R RER=AN ?

(1) ERYEHR=61t

Q=AW RFE=fAF

1.8 EMRKATAIMXES—MSIAEE | MKIGAEK
782 102 01 30. K MKTTFZRIEERS w.

1.9 yNEEAERNE , B CHECTE (-2, 0) FFH 22205,
GREGE (1, 3), AER G EESER G RORIRIRIIN

MRESD ?

2.1 H—&E73 6inches RYEESLAATR 12 cube feet RUFEF , 150
XAMEFRILARS NS ?

(1) FEFEFP—MARZ 2feet

(2) EELERRE 3 inches

2.2 ERM— M EIIE EFROM TS  BRIERRE D, £
HHENERRE a, THHDEb FMREOZENEEZH , BA

D

D, a, b k&=~ H

2.3 BA—MBARNKESDBIZ LW H XM IR LA
EFEKgERZ D ?

A. 8H+4L+2W

B. 6H+6L+2W

C.4H+4L+6W



24 WME , BAIE— M RN 12 NBER  IREXAERSRMK

— B, BBAXMEHNEERS) ?

RIFAREERS

1.1. @M MZKEEHNIF, bus BFEIEERE 60km/h, XZELL bus
AT AR, KERKELAE 2 /N8 |, 5 bus ERSERANS |, 3K
KERERE ?

1.1. QEXMHEMNA A BAEIMA , Hep - (DA FERIEEZ r
(m/h), FEHF 12 FRITHFA ; (2)B FERGERER 1.5r (m/h),
Tﬁgg’;ﬂlﬁ RS TN, 18 BANABIE— AR, AAES
UL \ %— ?

1.2. EXNAFIBFHEIEE 610km, B8 S a N AbHAEBiE,
BiEEE 90km/h; Bk 9:30b M B itbH &k A it AiESE 100km/h.
Ba :aflb7E b HARSAEE ?

1.3. —HEARIZE/KAE 80miles AIITZKzE 120miles FraEAYRTEI—
¥ . CAMGTERFKPRYEER 20mile/h, SOKRANEE ?

1.4. FERE& 60miles, AL 24miles/h BIEEK 12miles , B
F8 50miles/h BOEREMRITHIRETE | RXPMARIFIGERE ?

2.1 EXNE A0 B FFWes: ()45 1 IR A BiRAFRIRIIEIZ B
ERRFERYRTEIRY 75%,; (2)H1=5 A #] B —oAr-—IHRL2EREE 6 V)
B, 18 : H12% B SR¥RAE 1 MiRe2FRR 25/ ?

2.2 BB x My M= Eepl— 1R | Joi x Hlesseh T2
B—+ , AR y Yl=85ehdl FA—F | HE%k 16 /. [ALITER
HREAKH x W 2RERIRTeR £ RB L AZAIATIE ?

(1) x 1y —RT1E5emiX P ITIEFRE 6 /\id

(2) x BRIREL y ERIRIR

2.3 A TAH B TAEF—i2Fard X /Ned5ep—IT(E , T4t
PR Y /\g7epk 7 BRI IE , 2E8EKH Y/XRIE?

(1) A TATFH EF3ES 20%

(2) B TATFHE EFRERS 10%



3.1 m FHGREN x%HEEH n FHHSBRE S yerIEHR  REEK
73 m+n FHAGREAN 20%09787 , 18 m/n B9E ?

(1) x=2y

(2) x=30

4.1 EFM—NAGFEE N, simple annual interest rate /3
p%. WD LIREHRRIEE N, RENFRZEA %,
compound semi-annually. |7 fERE—FHFELIFE <IKH
FE—FWEIRIRIRG ?

(1)p=10, r=9.8

(2) p%< (1+0.5r%)2-1

51 ERI—NAMT ITEZRHE B - QIR 80 MAW , B
179 6.25 37T ; QUSRS 80 4, NEHEMEBMNI 6.5 5T,
@) : LURFRARERFIMtb—H M 7 S04 ?

(1) {7 4 NAILAZSH 26 355t

()ft—HW T 533 557T

5.2 — ATAERIAD 40 ANES TER 9 10 £R//0NET , #BT 40 /NEFLA
[FRITEY 15 R/, ENMHUFERE 40 /et , XMUFEBE T
40 /NBT , IBIEBXMUFELAE T SN ?

(1) ZMLFELE EMUEFEZ T 20 AV, 2T 250 7T

() IT{EataR ENFLFEFRY 5/3 , AN EMLFERY 11/6

5.3 BHlExE T —{EFHRT  EPEFEN 18.2355T , £
41t 52 5T, B FRIFLEREHNAY 40% EFAFBEZHNAT 30%,
AT 420 5. KERHIERERSD ?

6.1 TREEZE—LEENE Hh O0—A—KEPBELXK,
&% 10 & ; QFFR—HEIE 1600 & , BaTEE RSB 300
AN?

(1) ZE1-2 88198 80 A

(2) B 3-4 8198 150 A

6.2 5 100 N4, HPLEHE 10 BNNFEABKTERER
ﬂ§1??%)%{ﬁﬁ’ﬂ$—_¢._)\§&, [AEBE 10 BIpRIFEARSRNTLIZE
2

6.3 EA—NEER 30 RREXREE BRIl FRERES XA
SEHX 30 RPEDF—REH/DT 9 WE ?

(1) X 30 REEHAIFRIFENT 10

(2) X 30 XH 16 XRED=H 11 %

7.1 On a certain sight-seeing tour, the ratio of the number of
women to the number of children was 5 to 2. What was the
number if men in the sight-seeing tour?

(1) On the sight-seeing tour, the ratio of the number of
children to the number of men was 5 to 11.



(2) The number of women on the sight-seeing tour was less
than 30.

7.2 The rate of a certain chemical reaction is directly
proportional to the square of the concentration of chemical A
present and inversely proportional to the concentration of
chemical B present. If the concentration of chemical B is
increased by 100 percent, what is the percentage change in
the concentration of chemical A required to keep the reaction
rate unchanged?

7.3 Last year the price per share of Stock X increased by k
percent and the earning per share of Stock X increased by m
percent, where k is great than m. By what percent did the
ration of price per share to earnings per share increase, in
terms of k and m?

Answer

JUEIERsS

1.1 29 21E
12 (3-y)*4/3 2.2[(D/2)?~(a/2)2]°5+ [(D/2)2-(b/2)]0%
1.3 05 23A
1.4 384-100m 2.4 8005
1.5 15°

1.6 99

1.7 A

1.8 9

19 2

Nz FRRRERS

11 @75 @3r 5.1B
12 25 52D
13 4 5.3 152
14 41 6.1C
2114 6.2 10
22C 6.3C
23E 71C
31C 7.2 41%

41D 7.3 (k-m)/(100+m)



+t. [RR] FitiApIESEM

L1 LITRH-EEEEHET s 21, s, t = NERIPED
(1)s BIX=/EHIFLIE
(2)s=t

12 DUR R R B — B RS 7
(DIXLEEIATIRER 40
(2IXLEH TSR 40

1.3 B8 25 ASIEIE | B TREEeE RN 25 MA
EH RSB RIS — N K ?
(DEFB AR EERME 70-100 ZjE]

QB AR SRS 85 &

2.1 PRFBIIFRMERFAEH  FIRTINAIALL , AT
SRR ER TR R USRS ?

ERAF | AR
e

1

2
3
4
A

LRIVl |W

8

(1) A=6
(2) B=7

2.2 |ENTFHIEMEER | LU T RS FIMTX L EANMERY
PREREZD ?

OBEED—FHREMEET 18500 55T
QBEDL—FHEMEET 18500 55T

2.3 TERET—5FA 182 X5 183 XPERRENHRKE. HE
MBAE , AIX—FRENPEFAREESD ?

Lowest Median Highest
182 3x 41
183 37 9x

A.<37 B.39 C>41



3.1 BN 121 BAKERIRKER 12.2, &/IMER 0.2, FI9HE
3.4 , BRKERPEERTRERS D ?

3.2 B0 8 MNEHUEIRYFNER 440 , LU T RHAEEEHIEDX 8 NNk
BRARIEES D ?

(1)iX 8 MNRIELLRIBEL

(2)iX 8 NI range 2 14

3.3 A—IRmAEARR , ERTRIRMN N x,. TRERTXPRE
FE—EIFRREATSKEER | BiEX 5 RESFHIREARHNTRES

2

Day price
change

E— m

B= -t

B= -v

5[ n

Al P

4.1 SHERTMEGI AT B, H#E A HFIRIREER 1.75 , BES
FRIEREENEES ARY-2 5, [AE5) B ROTREERS D ?

4.2 B33 ,34,35,36, 37 X5 MERIREER Y, 157433,
434,435, 436, 437 X 5 MHINEERZ?

Answer

11(12(13(21(22[23[31[3.2]33

4.1

D |E |E B |E B (46| A |x+m-4t/5-3v/5+2n/5+p/5

3.5
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1.1 A three-digit code for certain locks uses the digits 0, 1, 2,
3,4, 5,6, 7, 8,9 according to the following constraints. The
first digit cannot be 0 or 1, the second digit must be 0 or 1,
and the second and third digits cannot both be 0 in the same
code. How many different codes are possible?

1.2 Six cards numbered from 1 to 6 are placed in an empty
bowl. First one card is drawn and then put back into the bowl;
then a second card is drawn. If the cards are drawn at random
and if the sum of the numbers on the cards is 8, what is the
probability that one of the two cards drawn is numbered 5?

1.3 A certain company assigns employees to offices in such a
way that some of the offices can be empty and more than
one employee can be assigned to an office. In how many
ways can the company assign 3 employees to 2 different
offices?

14 716 3MBETRIRE S IMLEERE A RIAMAES
—IptLE | BlE—HEBES D IEHE ?

2.1 On Saturday morning, Malachi will begin a camping
vacation and he will return home at the end of the first day on
which it rains. If on the first three days of the vacation the
probability of rain on each day is 0.2, what is the probability
that Malachi will return home at the end of the day on the
following Monday?

2.2 A string of 10 lightbulbs is wired in such a way that if any
individual lightbulb fails, the entire string fails. If for each
individual lightbulb the probability of failing during time
period T id 0.06, what is the probability that the string of
lightbulbs will fail during time period T?

2.3 If a certain coin is flipped, the probability that the coin will
land heads is 1/2. If the coin is flipped 5 times, what is the
probability that it will land heads up on the first 3 flips and
not on the last 2 flips?



2.4 A jar contains 16 marbles, of which 4 are red, 3 are blue,
and the rest are yellow. If 2 marbles are to be selected at
random from the jar, one at a time without being replaced,
what is the probability that the first marble selected will be
red and the second marble selected will be blue?

3.1 There are 11 women and 9 men in a certain club. If the
club is to select a committee of 2 women and 2 men, how
many different such committees are possible?

3.2 There are 8 books on a shelf, of which 2 are paperbacks
and 6 are hardbacks. How many possible selections of 4
books from this self include at least one paperback?

3.3 The membership of a committee consists of 3 English
teachers, 4 Mathematics teachers, and 2 Social Studies
teachers. If 2 committee members are to be selected at
random to write the committee’ s report, what is the
probability that the two members selected will both be
English teachers?

4.1 If a committee of 3 people is to be selected from among 5
married couples so that the committee does not include two
people who are married to each other, how many such
committees are possible?

4.2 A certain restaurant offers 6 kinds of cheese and 2 kinds
of fruit for its dessert platter. If each dessert platter contains
an equal number of kinds of cheese and kinds of fruit, how
many different dessert platters could the restaurant offer?

431240 H 2B —BA6 A —HBZDF6 A vs6 ABS?

4.4 If 2 different representatives are to be selected at random
from a group of 10 employees and if p is the probability that
both representatives selected will be women, is p >1/2?

(1) More than 1/2 of the 10 employees are women.

(2) The probability that both representatives selected will be
men is less than 1/10.



5.1 Each signal that a certain ship can make is comprised of 3
different flags hanging vertically in a particular order. How
many unique signals can be made by using 4 different flags?

5.2 A certain roller coaster has 3 cars, and a passenger is
equally likely to ride in any 1 of the 3 cars each time that
passenger rides the roller coaster. If a certain passenger is to
ride the roller coaster 3 times, what is the probability that the
passenger will ride in each of the 3 cars?

5.3 A gardener is going to plant 2 red rosebushes and 2 white
rosebushes. If the gardener is to select each of the bushes at
random, one at a time, and plant them in a row, what is the
probability that the 2 rosebushes in the middle of the row will
be the red rosebushes?

5.4 Of the three-digit positive integers that have no digits
equal to zero, how many have two digits that are equal to
each other and the remaining digit different from the other
two?

6.1 There are seven different car keys, namely A/B/C/D/E/F/G,
to put in a key ring. What is the probability that A and B will
be adjacent?

6.2 In a meeting of 3 representatives from each of 6 different
companies, each person shook hands with every person not
from his or her own company. If the representatives did not
shake hands with people from their own company, how many
handshakes took place?



Answer

1.1 152 4.2 27
1.2 2/5 43 Cxb/2
1.3 8 4.4 E

14 120 5.1 24
2.1 0.128 5.2 2/9
2.2 1-0.9410 53 1/6
2.3 0.5° 54 216
24 1/20 6.1 1/3
3.1 1980 6.2 135
3.2 55 6.3 21/64
3.3 1/12 6.4 5

4.1 80
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